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JA

10a
a kg kg
33,884 3,500 | 11,859,000
38,389 522 2,004,000
78 5,000 39,000
1993 2009
10a 20 3
1,020kg
() (%)
4 8 95 98
5 70
0 65 70
8 10 8 5
9 10 11 10
9 10 9 3
JA
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kg
kg kg kg
9 11 77 3 103 26 996,667
20 3
30
3
30 19 14 18
kg kg /
11,859,000 1,300 9,122 1.85 4| 2,281 4,219
2,004,000 1,020 1,965 1.04 3 655 681
39,000 1,200 33 1.85 4 8 15
1,020kg
4,219 50 2,110
681 70 478
15 100 15
JA
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NEDO

6,800
15 3,800
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64,558 225 67,933
68,179 75 69,304
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2006 2007 1999
+ +
16m 22.8m 8m 9m 14.4m 72 54m
209m? 65m?
400t 140t
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t=30cm t=30cm
4 8
( (kj/t
5 90 12 125
9 10 11 12 1 2 3 4 5 6 7 8
400f 400{ 400] 400] 400] 400] 400] 400] 400] 300] 200] 100

125




20 2006 2007 1999

9 10 (11 12 1 2 3 4 5 6 7 8
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4,700

70
B=16mL=22.8mH=8m 46,911,141
7,064,130
1,200 238 285,600
260 396 102,960
450 238 107,100
7,270 119 865,130
2,750 24 66,000
15¢cm 22,100 119 2,629,900
4.5ka/m® 1,040 536 557,440
H-150 300,000 7 2,100,000
50,000 7 350,000
32,365,663
45 276,000 43 11,868,000
83,000 43 3,569,000
35,000 64 2,240,000
7,500 64 480,000
35,000 64 2,240,000
7,500 64 480,000
35,000 100 3,500,000
7,500 100 750,000
t=0.3 1,200 737 884,400
310 737 228,470
150 7,200 800 5,760,000
1,800 203 365,793
6,060,249
11,000 112 1,236,780
2,000 112 224,869
3,000><4,000 970,000 2 1,940,000
2,500><3,000 600,000 4 2,400,000
600><1,200 129,300 2 258,600
994,000
20W><2 31,000 24 744,000
250,000 1 250,000
177,100
69,300 2 138,600
38,500 1 38,500
250,000
250,000 1 250,000
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685,312

m° 300,000

20,000 6 120,000

30,000 2 60,000

25,000 2 50,000

35,000 2 70,000

m? 1 30,000

15,000 2 30,000

2,600

20| /kwh 130 2,600

5 / 352,712

303,012 1 303,012

49,700 1 49,700

RC
( (kj/t
5 95 098 1,250
9 10 |11 [12 1 2 3 4 5 6
140] 140| 140| 140| 140| 140| 140| 140| 140| 140
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20 2006 2007 1999

9 10 |11 [12 1 2 3 4 5 6
182 |103 | 3.8 |-15 |-21 |-22 |-02 | 51 108 |165
18.2 103 | 3.8 |-15 |-21 |-22 |-02 | 50 |50 | 5.0
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65 170

209 4,700
36
B=9mL=14.4m 1,740,920
H=7.2 5.4m
0
745,620
t=0.3 1,200 402 482,400
310 402 124,620
1,800 77 138,600
676,000
11,000 52 572,000
2,000 52 104,000
0
69,300
69,300 1 69,300
38,500 0 0
250,000
250,000 1 250,000
364,420
m® 300,000
20,000 6 120,000
30,000 2 60,000
25,000 2 50,000
35,000 2 70,000
m? 1 30,000
15,000 2 30,000
620
20 /kwh 31 620
5 / 33,800
33,800 1 33,800
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46,911,141 39,827,188
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